Natural Selection Scenario

Use your notes and textbook to answer the following questions. 

[bookmark: _GoBack]A population of small birds exists over a wide area that ranges from a warm climate with little snow in the winter to a cold climate with snow during nine months of the year.  These birds have two color phases.  They are either born brown with black markings or white with black markings.  Explain how natural selection would act on this population.  Hint: Think about the affect of the birds color and the climate would have on survival and how the population is arranged. 




















In the situation from the previous question, explain how natural selection might lead to evolution.


[ R———

Rl w0l i S g

e el s T s s b e
g e i Dk g, o o ol
i poinion, W Tt e b s o e
o st nd e pepbion o




